Deforestation

OIntroductiondThis assignment is based on Key Idea 2:
Problems can arise when one group [lpursues its own interests to
the detriment of others.[0Deforestation in the Amazon has led to
conflicting interests in the Amazon [Clregion. Potentially it can affect
societies worldwide through global CDwarming.OIn this assignment,
I will agree or disagree with the following

hypothesis: C1d'Deforestation in the Amazon benefits some people
at the moment. It also Ccauses problems for other people, both in
Brazil and the rest of the world.'CIOIn order to draw up a
conclusion to the hypothesis, I will be looking at [the different
types of developments, which have already taken place in OBrazil
and also, the different reasons as to why Brazil should be developed
Oand why it shouldn't.JI will conclude my assignment by analysing
the evidence that I have gathered.CdSince the 1960's, several
types of developments have taken place in the CDJAmazon rainforest.
Brazil has the largest foreign debt of any developing Clcountry at
over $100 billion. If this debt were ever to be repaid, a vast
Clamount of money would be needed. This money would be
available if Brazil (ddeveloped its rainforest.[]1 Many foreign loans
and multinational investments were taken out by [CIBrazil during the
'Brazilian Miracle' of the 1960's and '70's in which Olarge-scale
projects made Brazil into a modern industrial nation. This O'miracle
left Brazil with enormous debts. Although this created thousands
Oof jobs, the gap between the poor and rich continued to
grow.[dDespite the fact that Brazil now has a trade surplus, the
interest payments Con the loans are forever increasing, and there
is no way that Brazil can Oreduce its debt - unless the rainforest is
developed.OIn Brazil, there is a huge inequality between the rich
and the poor - 1% of [the population owns 45% of the land.
Large areas of the Amazon rainforest have been destroyed as
governments [lhave tried to develop it to make Brazil a better
country.[JSome estimates suggest that a fifth of the Amazon
rainforest was cleared [lbetween 1960 and 1990. It is also
estimated that approximately 7.5 million COhectares of rainforest
are being cut down each year.OThis is extremely unlikely to be
replaced. The Amazon rainforest is in Lextreme danger.
Developments such as deforestation are proving to be a huge
Oproblem.OO00Developments that have taken placeCdCONumerous
types of developments have taken place in the Amazon rainforest.
OThe aim of this is to bring wealth to the area by using its natural
Oresources.[d. A large amount of iron ore, gold, copper, bauxite
and other minerals have Obeen discovered in the rainforest. Mining
companies have cut down trees to [lget to these deposits. An
example of this is the Carajas Iron Ore Project; [this is what led to
highway building.[JA lot of new roads have been built in the



rainforest for transport and CDcommuting. The longest is the Trans-
Amazonian Highway, a 5300km (3300miles) Ulong road, built
across Brazil from east to west. Other major highways, Cwhich
were built, are the Belém-Brasilia Highway (from Brasilia to Belém)
Oand the Northern Perimeter Highway.[OAn unlimited water supply
and ideal river conditions have led to the COdevelopment of many
hydro-electric power (HEP) stations. Over 125 new HEP [COdams are
built. One main example of an HEP dam is the Tucuri Dam. The
Clreservoirs behind the dams flood large areas of the forest.[0Vast
areas of the forest have been bought have been bought by COmulti-
national companies for cattle ranching. These companies have burnt
Cdown the forest and replaced the trees with grass.[J

For and Against Developing the Amazon[The Amazon rainforest
has had many kinds of developments such as mining, Ofarming,
cattle ranching etc. and they have resulted in things for better
(and for worse for the rainforest. All of those developments cause
Cldeforestation. Although developments in the rainforest have
brought many Obenefits such as providing jobs for people,
developments are doing more harm [than good.[OMining projects
such as the Carajas Iron Ore Project are involved in the Cfelling of
trees. The Carajas Iron Ore Project cost over 62 billion US [dollars.
It is believed that it holds the world's largest iron-ore reserves. It
also has bauxite, manganese and copper. This has caused
deforestation and [lhas led to the building of roads and railways for
carrying goods from the CJAmazon to ports etc.JHEP stations were
built in the Amazon. The Tucuri Dam is an example of one. OIt is
the largest hydroelectric scheme in the world. Billions of dollars
Clwere spent on this and over 2,500km?2 of rainforest had to be
flooded. Over 18,000 people lost their homes and thousands of
animals died. Due to this, [DMalaria has increased as mosquitoes
breed in the water of the reservoir.[dDeforestation in the Amazon
rainforests affects forest farmers (Indians) Clbecause their land is
lost. They use the land they live on to survive and Odeforestation
takes away their homes. This also affects landless poor Lfarmers in
the same way as they are told to leave the land, leaving them
Owith nowhere to live.ODuring the last 400 years, developers have
almost completely destroyed the Clway of life for the Amazon
Indians. It is believed that approximately 5 Omillion of them were
living in the Amazon Basin before the arrival of the Cldevelopers -
Europeans. Now, there are less than 200,000 Amazon Indians.[]
Inequality has not been reduced by the development of the
Amazon. The Oindigenous people are able to live successfully in the
forest without Cldestroying it, as they have done for hundreds and
thousands of years. OOWithout the forest, they are nothing. The
majority of the Brazilians were [Inot given fertile land, therefore
pushing them to migrate. Apart from the O'rubber barons', most
people gained lasting wealth from the 'Rubber Boom' of [the



1880's. The rubber tappers and the indigenous people hated the
ideas for Jthe government's development programme for the
Amazon region. It would have Odestroyed their livelihoods.[0So far,
most of the attempts made at developing the Amazon to gain
lasting Clwealth, have been useless. All have harmed the way of life
of the native OIndians.The rainforest is used for ranches for
cattle. Cattle ranchers are for Cldeforestation because then, they
will have more land to ranch on.CODevelopment affects the
'hamburger chain boss'. He gains from deforestation Uas cattle
ranchers gain and cattle are killed for beef. As more trees are Ucut
down, more land is available for cattle ranching and so cheaper and
beef Lis available. This makes their chain of restaurants popular
and more Oaffluent from beef burgers.dScientists are affected
because due to deforestation, valuable plants, OOwhich could have
been used to find new drugs and medicines, are lost. These Clplants
could save the livesClof millions of people all over the world, but are
lost as a result of the Odestruction of the
rainforests.CJEnvironmentalists want to preserve plants and animals
in the rainforest, CObut cannot as deforestation causes rare plants
and animals to die.dBrazilian politicians want to develop and sell
land, so, deforestation is [1good for them as they get to sell the
land and develop it. This way, they Ucan pay off the debts for their
country by exporting beef and selling land.JA lot of land in the
rainforest was given to landless peasants by the Jgovernment.
These landless peasants, together, have managed to clear
Omillions of hectares of rainforest and are still doing so today. As
these [peasants milk the soil dry, the soil becomes infertile, so,
peasants have to [Odmove elsewhere, clear more land and start
again. In this way, large amounts Oof the rainforest are lost
forever.OSource J is against development in the Amazon. It talks
about the burning Oof trees which release carbon dioxide which can
lead to Global Warming.OCattle ranching in the Amazon increases
the build up of methane, a gas Owhich can lead to Global Warming.
The burning of trees to quickly clear land Ofor ranching, increases
the build up of carbon dioxide, another gas that can Olead to Global
Warming.OGlobal Warming occurs when there is an increase in the
Earth's temperature. OThis is due to the use of fossil fuels and
other industrial processes, Lleading to a build up of 'greenhouse
gases'. Carbon dioxide and methane are Otwo of the four
greenhouse gases.[dIn the Amazon, mass cattle ranching increases
the build up methane, a gas Owhich can lead to global warming.
The burning of trees to quickly clear land Ofor ranching, increases
the build up of carbon dioxide, another gas which Ccan lead to
global warming.O  All this will eventually affect every single thing
on this planet. An Oexcess build up of carbon dioxide causes a rise
in temperature in the OEarth's atmosphere. This rise in
temperature will cause the polar ice caps [to melt, causing a rise in



sea level, as mentioned in Source J. This will Ccause problems for
those living on low-lying land, especially in Bangladesh.] Those
living in Bangladesh are always experiencing floods, as the
Clcountry lies on the delta of the River Ganges. Floods in
Bangladesh are Ofrequent, and nearly always kills some, while
making thousands homeless. The Ufloods are disastrous, and cost a
lot of money. If global warming increases [I(by the deforestation of
the Amazon), Bangladesh will eventually become [totally flooded,
and thousands will die. The country will be totally subdued [in
water, and will not be seen above sea level, as it is already quite
low Olying. Being a poor society as it is, Bangladesh would not be
able to cope Owith an increase in global warming.OOther predicted
effects of Global Warming include an increase in storms and
Ohurricanes in tropical areas, and a decrease in rainfall in most of
the Oworld's major cereal growing areas. This will increase
inequality as the LOMEDC's will be able to cope with disasters like
floods, droughts or Cldecreases in food production, but the LEDC's
won't.dSource D suggests that development is needed in the
Amazon because the Oriches there need to benefit Brazil and the
people. It states that there are Oplenty of minerals in the Amazon
that could be extracted and exported to [Clbenefit Brazil's economy,
and the people of Brazil. This is vital because [IBrazil needs to
develop its resources to increase its GNP.OSource I is against
development. This source is about the world's oxygen Csupply and
that 'between a third and half of the world's oxygen supply comes
Cfrom the trees in the rainforest and that one quarter of the
world's fresh CDwater comes from the Amazon Basin.' If the
rainforest was destroyed, both Oreserves would be lost and the
whole world would suffer due to a small ODamount of people who
wanted to develop the Amazon.OSource H is for development in the
Amazon stating that development can pay Uoff Brazil's world debt
by building in the rainforest or selling parts of [it. The argument
for development is that Brazil needs to pay off its debts Clor else,
as a country, it won't be able to progress further.OThe entire world
can lose out from deforestation as the oxygen levels are Creduced,
medicines are taken away, and many other factors, which affect
us!O0OOEvaluation of Sourcesl]Source I is from the World
Wildlife Fund (WWF), so, it is obviously against CDdeforestation. This
source is factual and tells me about the world's oxygen Oand
water.[As it is written by the WWF it may be biased, as it does not
tell us the COgood, that developments in the Amazon do. However,
as it is a factual source [Ibased on 'investigations' I think it is
reliable and has valid and Ointeresting points when arguing against
development in the Amazon.OSource D is written from a Brazil
2000 video in 1996. This source is for [1developments. This source
states that the 'enormous range of minerals in the CJAmazon', are
‘cash’' for Brazil, and would benefit everyone. It is saying [that



developing the Amazon would provide Brazil with these marvellous
Oreserves and might improve the standard of living.OThis source is
biased as it is somebody's opinion and is not factual. In
[dsomeone's opinion, the mineral reserves of Brazil will benefit all of
[IBrazil. Not everyone would agree with this as we have already
found out Clabout all the people who have not benefited. This
source is unreliable as it CDwas written in 1996, about the year
2000. How would people four years ago [lhave known what was
going to happen today? Although this is an unreliable Osource, it
has an excellent argument for development.OSource J is written by
the WWF. This source may be biased as it is by the OWWF, but
again is factual. It tells us about how developments cause Global
OOWarming, which affects the rest of the world. I think that this
source is Otrustworthy and reliable as it only tells us facts, not
opinions.dSource H is from the World Development Report 1990.
This source is [Isuggesting that Brazil needs to pay off its world
debt, and, to do so, Lddevelopments need to be taken place. This
source has little information in Oit, but this information is
conclusive. It says that Brazil's world debt is Cwell over $100
billion, the highest foreign debt of any developing country, Othis
was in 1990. Today, 10 years on, it may have changed; therefore,
this Osource is weak and unreliable as it is so
old.O0OOConclusionOIn conclusion to my assignment, I've
decided to agree with the hypothesis.[0So far, all the developments
which have taken place in Brazil have meant Othe felling of trees
and destroying the Amazon Rainforest. All of these [Idevelopments
have made the rich landowners and business people richer. This Ois
because they buy and sell the land and make money from the
profits made. LIAIl these developments have made the poor farmers
and peasants poorer, thus, Clcreating more inequality. This is
because their land is lost and destroyed. C1They are left with
nothing.OEven though all the profits made are supposed to got
towards paying off the Clcountry's debts, you have to spend money
to make money, and, since Brazil (0has no money of it's own, the
money has to be borrowed, which adds to the Ccountry's debt.
These developments in Brazil are creating a 'vicious Ccircle'. Brazil
will forever be in debt, no matter how much money is made Cfrom
developments.JAlthough Brazil benefits from these developments
in the short-term, in the Olong-term, Brazil is going to make a
huge loss.[Inevitably, the planet will suffer due to Global Warming
creating an Oever-increasing climate. This will lead to the already
poor, less developed [Ccountries and societies finding it more and
more difficult to survive.[JAll these developments mean exploiting
the Amazon's natural resources, Llwhich can never be made up. In
reality, exploiting and developing Brazil's COnatural resources will
inevitably increase inequality, as it is brazil's Orich who will benefit
greatly, with the poor hardly benefiting at all.(JI do not see any



point in coming up with ideas for so-called 'developments, Lif they
are going to destroy something as valuable as the Amazon.
Destroying LJthe Amazon Rainforest does not seem like a
development to me.All over the world, the increase of Global
warming and the increase in Cclimate as a result, is putting vast
amounts of pressure particularly on [those societies who are less
able to contend with difficulties. These are Omainly the poor people
in Bangladesh, and those people who are living on the Ofrontier of
the ever-advancing Sahara Desert.[JReducing inequality in Brazil
would be greatly difficult, I think to go Oabout doing this, the
Amazon Rainforest needs to be re-planted, and this Owould benefit
the majority.



